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Entries  518933

Mean x   3.105±  217.1 

Mean y  0.03853± -15.06 

RMS x   2.196±  274.7 

RMS y  0.02725±  3.409 

Integral     7827
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Entries  518933

Mean x   3.105±  217.1 

Mean y  0.03853± -15.06 
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Integral     7827
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Entries  518933

Mean x   2.715±    186 

Mean y  0.0364± -13.28 

RMS x   1.919±  241.9 

RMS y  0.02574±  3.244 

Integral     7940

0

2

4

6

8

10

12

14

16

18

20
Right_time_vs_adc_e21

Entries  518933

Mean x   2.715±    186 

Mean y  0.0364± -13.28 

RMS x   1.919±  241.9 

RMS y  0.02574±  3.244 

Integral     7940
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AVE_time_vs_AVEsum_adc_e21

Entries  518933

Mean x   2.915±  202.3 

Mean y  0.03524± -14.26 

RMS x   2.061±  257.5 

RMS y  0.02492±  3.114 

Integral     7808
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Entries  518933

Mean x   2.915±  202.3 

Mean y  0.03524± -14.26 

RMS x   2.061±  257.5 

RMS y  0.02492±  3.114 

Integral     7808
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Entries  518933

Mean x   2.902±    201 

Mean y  0.03526± -14.26 

RMS x   2.052±  256.6 

RMS y  0.02493±  3.118 

Integral     7820
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Entries  518933

Mean x   2.902±    201 

Mean y  0.03526± -14.26 

RMS x   2.052±  256.6 

RMS y  0.02493±  3.118 

Integral     7820
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Left_time_vs_try_e21

Entries  206338

Mean x  0.00254± 0.0005428 

Mean y  0.09434± -14.39 

RMS x  0.001796± 0.1113 

RMS y  0.06671±  4.132 

Integral     1918
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Entries  206338

Mean x  0.00254± 0.0005428 

Mean y  0.09434± -14.39 

RMS x  0.001796± 0.1113 

RMS y  0.06671±  4.132 

Integral     1918
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Entries  206338

Mean x  0.002546± 0.000524 

Mean y  0.08698± -12.96 

RMS x  0.001801± 0.1113 

RMS y  0.0615±    3.8 

Integral     1909
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Entries  206338
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Mean y  0.08698± -12.96 
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Entries  206338

Mean x  0.002561± 0.0009144 

Mean y  0.08811± -13.74 

RMS x  0.001811±  0.111 

RMS y  0.06231±  3.821 

Integral     1880

0

0.5

1

1.5

2

2.5

3

3.5

4
AVE_time_vs_AVE_try_e21

Entries  206338

Mean x  0.002561± 0.0009144 
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